PR - dt (Saaei=e Adbi-1P) - ug . 1409
TECHNICIAN —B [ELECTRONIC MECHANIC] — POST NO.1409

1. afe fFE 0.1uF, 100V FTRA TUT 0.22uF, 40V JHIRA B FHIR U & Sl SdT 8 O od
TR AT Sifereray HRIGRT dieed fba-l gIi?

If a 0.1uF, 100V capacitor and 0.22uF, 40V capacitor are connected in parallel, find the
overall capacitance and the maximum working voltage.

(a) 0.32 uF, 40V
(b) 0.32uF, 140V

(c) 0.06875uF, 40V
(d) 0.06875uF, 140V

2. Tt anex cawIiR & wrflis aut fgdias eami | HR: 220 U6 11 9d4 8| o fedias
P ! S b 7T dd WUffe pea- T 220mAYRT UdTied 81 et ot
fgciiage & Al URT fasait g
An ideal transformer has 220 turns in Primary and 11 turns in Secondary windings.
220mA current was flowing in the primary winding, when secondary winding was
loaded. What is the load current in the secondary?
(a) 440mA
(b) 4.4 mA
(c)440 A

(d) 4.4A

3. 21100 Q, 0.5W UfRIYD! &) gHidR H SIS S1aT 8 | UHTH UfeRIY A TUT Ao gl

Two 100 Q, 0.5W resistors are connected in parallel. The effective resistance value and
wattage are

(a) 200 Q, 0.5W
(b) 200 Q, 1W
(c) 50 Q, 0.5W
(d) 50 Q, IW



4. 1.250mW....oorrrrrerrnne. & RR G
1.250mW equals

(a) 125 W

(b) 0.00125 W
(c) 125 W
(d)0.125 W

5, ﬁo—é’rlzvéegm&muﬁﬁuo.l Q 31 39 93t T 3meRa o1 o harel! Faffrewifad
........................... |

A 12V battery has an internal resistance of 0.1 Q. The maximum power that can be
drawn from the battery is

(a) 360 W
(b) 180 W
()36 W

(d) 120 W

6. TN ‘I’ TUT A6ls “TA ¥ ad JAIBR IR HIC a1 bl I R 99 10V HISFAN
o ST & o 39 I1® & HIEH F 10 AD! YRT BT IdTed Sl o] dfe T3 - $I 31
T G 1 § ol 3 A1 b HIH J Id URT BIHTAT T BRI
When 10V is applied to a conductor of circular cross section of diameter ‘D’ and length
‘L’, it produces a current of 10 A through the conductor. What will be the current
through the conductor if the diameter alone is reduced to half?

(a) 10 A
(b)5 A

(c) 20 A
(d)2.5A

7. STC 9 EEHT 3R S, ST, AR, ok ekl aret 9ol Bist & gad B URRiuD! & TR
T T TG oo gl
For Carbon resistors colour coded with yellow, violet, orange , silver stripes from left to
right the resistance value and tolerance are

(a) 47KQ+-10%
(b) 47kQ +/-5%
(c) 47kQ+/-20%
(d) 4.7kQ +/-10%



ESD Wrist strap resistance shall be of the order of

(a)1Q
(b) 1kQ
(c)10kQ
(d) IMQ

9. gSRIfYd g ufeRiys, SrRI0805 & w9 & 10T fSaT T8, e PR BT

A surface mount chip resistor designated as 0805 has the size of

(a) 80 mil x 50 mil

(b) 8 mil x Smil

(c) 80 HE?ﬁ?/micron X SOHEEIO"T:T/micron
(d)8 HEHO"T:T/micron X5 W/micron

10. Frafeiad s Acht B gkl § A g Tresw P Fau= & forg veg Y Frterr s 87

X ray inspection is required for verification of soldering of which of the following
package style devices

(a) Y =OWT GHTD eId YRYY/Small Outline Integrated Circuits
(b) didt 1€ =g gfdaai/Ball Grid Array devices

(c) dg: |UIc ED gfdadi/Quad Flat Pack devices

(d) Tt e g 2If%l’ﬁl"I/Pin Grid Array devices

11. Tt A fomrct &1 ST SHfewa .......... % geHh AFI & AU 3 fhar Sar g

A smart tweezer is mostly used for measuring component values of

(a) qgr@ﬁa fAfspa 1IT%l’CIT/Surface mount passive devices
(b) ISRITUT dffSilT gfdaai/Surface mount BGA devices
(c) WSS gedh gfdadi/Leaded component devices

(d) ISRITUT wfehd gfdadi/Surface mount active devices



12. FieeA & foTT Sn 63 Pb 37 Hicex UE BT IGINT dH-dTe! [l G:5dTg a1 o
TR ATHAA TR .o g
The peak temperature in a reflow oven which uses Sn 63 Pb 37 solder paste
for soldering is typically

(2)160 °C
(b) 230 °C
(c) 300 °C
(d) 330 °C

13. 9§ W ardl bt diefieht & uraR I qu1 IS Id anveE §, Fife

Power plane and ground plane in a multilayer PCB are advantageous because

(a) d fogMe® FUIRIER & T H S HRd %'/they act as a decoupling capacitor
(b) Xd DI HH I H gD gId %/they help in reducing noise

(c)d SolgRIT Gl &l HH HRd %"/they reduce parasitics
(d) G’Cl?jaﬂ gui/All of the above

14. SRS H SHAT T 15 P oo U H forar ST g1

In BCD, decimal number 15 is written as

(a) 00001110
(b) 1111
(c) 00010101
(d) OxF

15. fg-3memt ¥eam 1110.01 & THI™ GHT ... gl
Decimal equivalent of binary number 1110.01 is

(a)14.25
(b)15.25
(c) 14.01
(d) 15.01

1 kilobyte is

(a)1024 fae/bits
(b)1000 dTgC/bytes
(¢)1000 fare/bits
(d) 8192 fae/bits



17. {5t yatie &1 dieed afe 60dB B 1 3HTSTYE dleed aul 39 dieedl &I UG ........... gl
Voltage gain of an amplifier is 60dB.The ratio of output voltage to input voltage is

(a)1000
(b)100
(c) 60
(d) 120

18. SRTEHT IRy HT T Jof1000 kHz TR 3G Bt 51 1005kHzIR IRUY wfcraren o
Tahfa a1 gft?

A series RLC circuit resonates at 1000kHz. What is the nature of circuit impedance at
1005kHz?

(a)dfcRIe/Resistive
(b)¥TRdl/Capacitive
(¢) IRfO®/Inductive
(d)B'CI?j?H T I B13 El/None of the above

19. TEf@HE R W 1 kHz F fdt Gava &1 ufdefRia fear o 81 ufaezi smaf........... gl

A signal of 1 kHz is to be sampled at Nyquist rate. The sampling frequency is
(a) 500 Hz
(b)1 kHz

(c) 1.5 kHz
(d) 2 kHz

20. IR G Vmsi%(loom)@f Tiferd fordt ¥ et & SRl & forw oriférd =Ry ufdey
|

In a bridge rectifier driven from the power source Vsin(100mt), the Peak Inverse
Voltage required for the diode is

(a)Vw/2
(b) Vim

() 2V
(d) 4Vin



21

. §3fagy B W farddt uferiess o) Aftg i 3d dieed ... ¥ MU grt

Thermal noise voltage of a resistor measured over bandwidth B is proportional to

(@) B

(b) \B
(c) B?
(@) B!

22. 39 yaefa Bt YU &1 A1 IaT3T o Gad HH fapia & Iy y=ferd giar g

23.

The class of amplifier that operates with least distortion is

(a) 907t A/Class A

(b) 907 B/Class B

(c) 9T C/Class C

(d) 99t AB/Class AB

fafaRad & 9 &F a1 IRy TR HI It Mg & a1 R & T § gRafdd w1 g?

Which of the following circuits convert sine wave to square wave of the same
frequency

(a)3afeT e/ Inverting Amplifier

(b) TEIfeId dgahiU=/AstableMultivibrator
(c) fgRRufae sgdfum/BistableMultivibrator
(d) fRYe feR/Schmitt trigger

24. Tt TTSIE 13 FHIIR B HH-J-FHH [ fTauuaial &t aadhdl g2

25.

A modulo 13 counter needs a minimum of how many flipflops?

(a) 8
()5
(c) 4
(d)3

H@ell 7 9fa0Y R dUT Rehed L & god forel gRoyr iy gfdemem.......... J

Impedance of a circuit having resistance R and inductance L in series is

(a) RjoL
(b) R+joL
(c) R-1/(joL)
(d) R+1/(joL)



26. fordht siftheeftd qof @31 P&, SR®T §99e 50Hz AC dieear Wid ¥ Wig faman
ST 8, BT SBT3 ..o grft|

The ripple frequency at the output of an unfiltered full wave rectifier whose input is fed
from50Hz AC voltage source will be

(a) 50Hz
(b) 100Hz
(¢)150 Hz
(d) 200Hz
27 e, T &R & forg eiforext & fAufor 8§ fferm smiArgs &1 IuaiT fesar S 3|

Gallium Arsenide is used in the manufacturing of transistors to achieve

(a)3= dlsd/High Gain

(b) I 3dfi/High Frequency

(c) 3= (Ao ufdane/High Input Impedance
(d) 3= gHIPd/High Integration

28. 519 907t A YAt & =0 H Ugad a1 1T § a9 BIT 80U ............... & o UaTe eRa gl
When used as a class A amplifier, BJT is operating in its ------------- region.
(a) Gfohd/Active

(b) Iqfi/Saturation
(c) 8fdd/Cut-off
(d) ¥SiH/ Breakdown

29. frfarad fgydt cifoRer T=uon & ¥ S a1 Faffers UreR afs ue &dr 82

Which bipolar transistor configuration provides maximum power gain

(a)3UTME TUTEl/Common Collector
(b) IHIMEY MYR/Common Base
(¢) IHAFS I&oidh/Common Emitter

(d) T Tt I3 A IR af UeH HRA 81 /
All these configurations give same power gain




30. fpeft YeR &1 qalftis W 2 & Ui 9o ST ufdE B Uf¥d wRE Ui
& U ad dgHT st
It is required to increase the maximum range of a radar by a factor of 2. The peak
transmitted power has to be increased by a factor of

(a) 2
(b) 4
(c) 8
(d) 16

31. fofered) 3 Ut o1 U=Te duH IR fha g2

What is the operating temperature range of Military grade components?

(a) 0°C Q/to +70°Ca®
(b) -20°C T/to +80°Ca®H
(c) -40°C I/to +85°CAH
(d) -55°C T/to+125°Ca®w

.A buffer amplifier should have
(a) I=a 3w ufcanen, fg ffa ufdqeren

High input impedance, Low output impedance
(b) 3= a1 gfcaner, 3= fAeia ufaare

High input impedance, High output impedance
(c) T Faer ufcramen, A ffe ufcramen

Low input impedance, Low output impedance

(d) 75 Fa=r wfaaren, 3= fAefa wfdaren

Low input impedance, High output impedance

33. fordf} URITeTeS Uatd ol YD BISeD P MY .. # g fopar ST 8|

An operational amplifier is used with positive feedback in

(a) HHIPAD/Integrator

(b) Ty ftheex/Active filter
(c) TRye feR/Schmitt trigger
(d) 3fddhaihb/ Differentiator



34, TP GURT & IR-UR IUT AT BT oo 7 mifod foar ST B

The charge developed across a capacitor is measured in

(a) BR8/Farads

(b) dlee/Volts

(c) W/Coulombs
(d) 8RI/Henry

35. Tt faqgd-dawig a3 &1 a¥v1eed 300MHz &Y 3T TR BT

An electromagnetic wave at a frequency of 300MHz will have a wavelength of

(@)l m
(b) I cm
(¢) 1 km
(d) 100 m

36. fdll it UFa AT 12.5 QU & URRIYS & W90 ¥ 0.2 A P URT BT HIGH H 5
TfRIe & forg ifard =grad uraR T | 82
A digital panel meter measures a current of 0.2 A through a resistor of value 12.5 Q.
What is the minimum power rating required for the resistor ?

(a)1/8 W
(b) 1/4 W
@) 12 W
(d)1W

37. SIS faun H AediHieR o1 IUENT IR g el ¢ifSRer & &1l @1 Siid I+ &g U TAUIEA
TR BT .o & =0 § AT o 9l g

~

For checking the working of a transistor using multimeter in diode mode, an NPN
transistor can be regarded as

(a) 2 SIS YEAES oFH Tl &1 IS facfia & Huis § SieT T §

2 diodes connected in series with anode of 1 one connected to cathode of 2™
(b) 2 SIS YEaES T ST & HUTS THary SIS T4 §

2 diodes connected in series with cathodes of both connected together

(c) 2 SIS JTAEG o aHl & TS UHary Siis T4 §

2 diodes connected in series with anodes of both connected together
(d) 2 STS AR H SIg MY §

2 diodes connected in parallel



38. Fafared ooy & T9a =0 TR Raa &1 fRuf 1 9 Rl 2 & & S a1 © SiR Herha Ry |
SATAMRIT B1 el fafy &1 t TR 39 Geka & SfR-UR &t dicear & oy # Fafafed # 9
B 1 HYF el 67
In the following circuit, the switch is moved from position 1 to position 2 at time t=0
and the capacitor is initially uncharged. Which of the following statements is true
regarding the voltage across the capacitor at a specific instant t.

220 k0
2
» —VWNT—
—— 10uF
100kQ)

(a) 6.3V @2.2s
(b) 3.7V @2.2s
(c) 6.3V @3.2s
(d) 3.7V @3.2s

39.@%@@%%@%0%@1?%5@ﬁﬁw%%rtrﬁquﬁmﬁaaa%w:ry
?

What is the logic function Y implemented in the given switch circuit assuming switch
in open condition as logic 0.

Ay By Cy

(a) Y=A+(B+C)D
(b)Y=A+BC+D
(c)Y=A(BC+D)
(d)Y=AB+C)+tD

40. TR & IR H 3TH J DI 91 95! T8 57

Which is not true about Laser

(a)d® Ui 8/1t is monochromatic

(b) Tg THIARA 8/1t is collimated

(c)T8 Ygadel 8/1t is non-coherent

(d)URT {1Ud %ﬁ ST YA fa1 ST W1 81/ It can be used to measure range

10



41. frgfaRad & @ e forddt sidta ufkay & X Iuid &1 gferd Bl 62

Which of the following indicates noise margin ina digital circuit

(@) Vi.-Von
(®) Vin-ViL

(¢) Vii-Vou
(d) Vou-Viu

42. Tl T ®U & TR U (SIS ARDA) BT oo & ¥g H giHitg
far ST 81

Duty cycle of a waveform is defined as

(a) 3 TZH=-3{1H <139 / On Time +~Off Time
(b) 3t TIH-3{H <ZH /Off Time ~On Time
(c) 3TF TTgH=(3{1H TZH+ 3% €12H) /On Time+ (On Time+Off Time)
(d)3HT0 CTIZH=( 311 CIZH+ 31t TI8H) /Off Time+ (On Time+Off Time)

43, YDTAB BIZRH oo grar gl
Optic fiber has

(a) IRFYT 3% IR UdcHID BT DI
Core of higher refractive index than cladding
(b) IRFYH T SRBFHMR TS HT IS
Core of lower refractive index than cladding
(c) FHM 3fUacHid & HIs adl IR
Core and cladding of same refractive index
(d) U 3UaaHic & Hig aul aRfu™

Core and cladding of unity refractive index

44, D T db gR T JHIT Srashdi (URfE IhR) 872
Which logic gate is a parity checker ?
(a) NAND
(b) NOR
(c)XOR
(d) OR

11



45. 16 F132N § o bt Tgddpass & e fbam To fae sriféa 82

How many selection bits are required for a multiplexer with 16 inputs ?

(a) 3
(b) 4
(©)5
(d)2*-1

46. T feeuuiiy & Teiy # 399 9 HIHE1 T1 781 62
Which is not true for a flipflop ?

(a) TP IGIRRIRURTR
It has two stable states
(b) faft foTR & for w FRufd e &

It changes state without any trigger
(¢) FE & HSRUI & o SHHT SUTIT a1 S el §
It can be used to store information

(d) TIORERT 3R ufeRieed! & A1y § 39! W o1 off avcl! §

It can be realized using transistors and resistors

47. = few T aiuy § 9RT 1, fopaii 87

In the circuit given below, what is current 1,?

L —

\'r z ] - L:,\
R

(a) Vs RiRs /(Rs+ Ry)
(b) Vy/Rs

(c) VJRL

(d) V{(1/Re+1/ Ry)

48. TH3t drecHT BT ARG TARTY oo HRIELEY

The internal resistance of a voltmeter should be
(a) 3fd 3=/ Very high
(b) 9gd ®H/Very low

(c) ™/ Zero
(d) BUMHD/Negative

12



49. n T3Y AITAD] B UL AGP..o gl

The minority carriers in n type semiconductors are
(a)SaiaeH/Electrons
(b)¥Ier/Protons
(c)3g-/Ions
(d)f&%/ Holes
50. Fafafad # Q @ a1 fdggd ol &1 T gfie T8 22

Which of the following is not a unit of electric energy ?

(a) 3aaCH dide/Electron Volt

(b) FS&YTI/kWh
(c) pal/kV

(d) Sci/Joules

51. feuwu o # ffw Qfpar 282

What is the output Q in the given figure ?

A—]
_[D_F}Q

(a) A+B
(b) A.B
(c) A’+B’

(d) A’. B’
52. TG GBI BT ARINCH TR BUF oo gl

Approximate wavelength range of visible light is

(a) 50 nm ¥/to 380 nm TP

(b)750 nm ¥/to 980 nm TH
(¢) 380 nm ¥/to 750 nm AH
(d) 280 nm ¥/to 580 nmdH

13



53éwmw$mmmﬁmﬁﬁmmmwmw
?
Which of the following is an instrument used to characterize optical fiber?

(a) 99 Ardl/Panel meter

(b) AeciHiex/Multimeter
(c) UfdaTeT AT/ Impedance meter
(d) er2H-8184 Rutae] Hiex/Time-Domain Reflecto meter

54. fHaft 16x2 TaRfiEl Aiegd & UREUT: ... Gokd
A 16x2 LCD module typically has

(a)4 ST dg-/data lines
(b) 8 Sc1 AEH/data lines
(c) 16 S¢T @Z/data lines
(d) 32 ST dr2-/data lines

55. 9§ 15V &) 3% dieedt 3R 0.1 A &1 4RT I WIS b 911 8 a9 B3 defame et ars
B 1 W e vem SR g1 TS &l gl

When fed with an input voltage of 15V and current of 0.1 A, a dc regulator delivers 1
W output toa load. Its efficiency is

(a) 33%
(b) 50%
(c) 75%
(d) 67%

56. TP gUITH 12V TYUT 30 Ah Hecs & IUGNT Hal &1 UraR T 300 Wb it bt o)
I & foIT 3uHT IuANT fabar AT 81 Uhd e 0T auT 100%cerdT AT gU waffers
-3 JHY {1 82

A UPS uses a battery of 12V and 30 Ah. It is used to run a PC of powerrating 300 W.
What is the maximum back-up time assuming unity power factor and 100% efficiency?

(a) 50 f&e/minutes
(b)60 fie/minutes
(c) 72 fBFe/minutes
(d) 84 B/ minutes

14



57. XFET230V, 1.5 A, 276 W I gad fordit ITHRUN BT Rl O ............. gl
The power factor of an equipment with rating 230 V, 1.5 A, 276 W is

(a) 0.8
(b) 1.0
(c) 0.6
(d) 0.75

58. AP faEe gRT Soll I B & T8 T Uerd S g2
What is the material used for energy generation by nuclear fission ?

(a) WE/Lead

(b) ITH/Uranium
(¢) eWiH/Hafnium
(d) HSERH/Cadmium

59. IS HI Uad quTe uRwdel H aeh [ IR g1 &Y <gaad fasar ST 82

Which transformer loss is minimized by making the core into thin flat sections?

(a)dT™ §TH/Copper loss

(b)‘af?:l?l gH/Hysteresis loss
()T 419 81A/Flux leakage loss
(d)ﬂ-\ﬁ?—%ﬂﬂ gIA/Eddy current loss

60. o TS B! AR H SNST T 8| TP I HTIET2 V dUT5 Ah 81 59 9t I dleeal T
TR T oo

Three cells are connected in parallel. Each cell has a rating of 2 V and 5 Ah. The voltage
and Ampere hour of this battery

()6 V, 15 Ah
(b2 V, 15 Ah
()6 V, 5 Ah
(d)2V,5Ah

15



61. I ORI BT HM 400 mHAYT 225 mHE 3R 3% POl I hls R IHIR 0 H T
T 81 I STURf IREqd 90 mH § N JEA BT ONH o 2

Two inductors of value 400 mH and 225 mH are placed parallel on a common core. If
the mutual inductance is 90 mH, the coefficient of coupling is

(a) 0.4
(b) 0.3
(c) 0.225
(d) 0.9

62. 10 uF @ fHdl 4mRar &1 4uF a1 6pF & & GUTRAT o JHIAR Yo & I gl J g
ST 8 | 3 YaIo &1 THded YT it 82
A capacitance of 10 puF is connected in series with a parallel combination of two
capacitors of capacitance 4pF and 6puF. What is the equivalent capacitance of the
combination?

(a) 5 uF
(b) 10 uF
(c) 12.4 uF
(d) 20 uF

63. 400 pWHBHTHIT FAdT YR Y J 2 cm’® [HT 8F & ATOAIUR g1 ST 81 Feaad
B SR gl
Magnetic flux of 400 pWb passes normally through an area of 2 cm®. The flux density is

(a) 0.8 T
(b) 2T

(c) 0.5T
(d) 06T

64. TPt PN I & fava AT 39 T 5 1 uref IR MY H PRUIE &1 T M ... B

The potential barrier at a PN junction is due to the charge on either side of the junction.
These charges are

(a)3feUTRI dTgh/Minority carriers

(b)SgIBI® ATGh/Majority carriers

(¢) TR TYT TgUVIH algdh  aHI/Both majority and minority carriers
(d)frad arar a1 AT8t 34H/Fixed donor and acceptor ions

16



65. S BIs PN I 3 &1 foxn # s g a9

When a PN junction is biased in the forward direction

(a) P15 dTed el Iad o/No carriers move
(b) TP &7 P TGS AED] Bl g8R & H a4 fbar o @
Majority carriers in each region are injected into the other region
(c) Pacl N & % gaaeH] o P & § 3ia:&fd far Sirar @
Only electrons in the N region are injected into the P region
(d) Paci P &7 & gl &I N &5 § Sic:&fd fvar Sirar 2

Only holes in the P region are injected into the N region

66. THRINGI &b TRET ‘DA AT BT AAD DK .............. gl
Standard shape of a safety ‘warning sign’ in workshops is

(a) gdidR/Circular
(b) ﬁﬁUﬂﬁ/Triangular

(©) ?ﬁﬁ?/Square
(d) UYsi/Pentagon

67. Th IR URANY] & TSIl STl DI IRSAT
Number of valence electrons in a Boron atom
(a) 6
(b) 5
(c) 4
(d)3

68. I dredl AN o o HYRUGAT Ygad fobT SHdTe UfaRlee &1 ThR

The type of resistor commonly used for high wattage applications

(a) HIa UfaRIed/Carbon resistors

(b) Raf¥d dR UfeRig®/ Wire wound resistors
(c) faafa ufcRIe®,/Diffused resistors

(d) Tt UfcRIee/ Thin film resistors

17



69. od fpdl PN TfY & ugfefie S0 & 9g/™l SaT § d99/ded IRd i disls

When the reverse bias at a PN junction is increased, the depletion layer width

(a) 3Mafkafdd @ §/Remains same
(b) Tt 8/Decreases

(c) S 8/Increases

(d) T 8 A 8/Becomes zero

70. fpaft fgydt T TifoRer @) YR IxSie DC URT AT 99 B IH! WHURN YR URT Al
foparit 32
The common emitter DC current gain of a bipolar junction transistor is 99. What is its
common base current gain?

(a) 1

(b) 0.99
(c) 0.01
(d) 9.9

71. Frofofed vt & @ i vaee siftra 1 e et 82
Which of the following programs is NOT part of MS Office ?
(a) TRN/Access
(b) TRId/Excel
(c) TR Uig=e/Power Point
(d) g8 Uthae/Word Perfect

72. fHef L - R 4@ ufkoy T L0.5 HE 3R R250 Q 81 99 RRf® fara 82
In an L — R series circuit L is 0.5 H and R is 250 Q. What is the time constant?

(a) 2 ms
(b) 5 ms
(c) 1.25 ms
(d) 25 ms
73. fordl yarae® Yatdd HCMRRETYRUGHAT .............. g
In an operational amplifier, the CMRR is normally
(a) ™/ Zero
(b) Th/Unity
(c) dgd BICT/Very small
(d) 9gd d8I/Very large

18



74. I9 AW WIgferd e & forg smiféra sefagy fara-t 8 St 1.5MHz &t dTgd Sgfy aur
20kHz P} ATge® Tobd SAgRT BT SUANT Bl 82
What is the bandwidth required for Amplitude Modulated systemusing carrier frequency
of 1.5MHz and modulating signal frequency of 20kHz ?

(a) 20kHz
(b) 40kHz
(c) 1.52 MHz
(d) 3.04MHz
75. feu Tu PIur 0 & g, Tfe sin(0) = 0.6 § M,cos (9) BT HA {1 B2
For a given angle 0, if sin(0) = 0.6, what is the value of cos (8)?
(a)0.4
(b) 0.6
(c)0.8
(d)-0.6

76. I UG BT THATY BT SIdl 81 39 UrEl & FURT o # et J=anai &t 5irs 8 gH Bt
GHTGT et 82
Two dice are thrown together. What is the probability that the sum of the two numbers
appearing on top of the dice is 8
(a) 4/36
(b) 5/36
(c) 4/6
(d)5/6

77. Tt AR S &1 uRAT 72 W 81 i ITD! das ITDt AiSE F 47, e 7 @
3BT &Rt T RN
The perimeter of a rectangular garden is 72 m. If its length is 4 m morethan its width,
what is its area?

(a) 320 m*
(b) 324 m*
(c) 640 m*
(d) 288 m*
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78.

79.

80.

4 1. B ard fadlt 99 9 FIC T 30° D107 AT AIrEE o1 8% d /

Find the area of the sector of angle 30° cut from a circle with radius 4 cm .

(a) 50.25 cm’
(b) 25.12 cm?
(c) 12.56 cm?’
(d) 4.19 cm?

Ife D3 BR 3 B & T 40kmph W 3R AY &) & & AT 60kmph e & a@F IY HR
I 3ga TIfd fait gfie

If a car travels at 40kmph for 3 hours and at 60kmph for remaining two hours. What
is the average speed of the car?

(a) 45 kmph
(b) 48kmph
(¢) 50 kmph
(d)55 kmph
foHit SrefMdl & gN &1 Fd &% d 300m mm?e | STHT AN fara T 82

A hemisphere has total surface area of 300 mm?. What is itsdiameter?

(a) Smm

(b) 10 mm
(c) 20 mm
(d) 300/Tr mm

sk st sk o ofe ok ok ok ok sk sk sk sk
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